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| 304,000 304,000 0
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i 356,000 416,000 260,000
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OJI3 A 655,842 715,464 A 59,622
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HUHX AEES 1,336,504 1,457,490 A 120,986
=2 540,000 540,000 0
= 55,050 55,050 0
2 741,454 862,440 ~120,986
PG A KM 22 A 331,558 420,000 188,442
2 150,000 150,000 0
2 181,558 270,000 88,442
402 QI2tX 20| & 331,558 420,000 188,442
=2 150,000 150,000 0
2 181,558 270,000 88,442
01 QIIX = AL 2 & 331,558 420,000 188,442
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= 44,550 44,550 0
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—HIIY ARDSY BX2 NHAL
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03 Al 2 THHI 200 900 A 700
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03 A& S THHI 324 1,815 21,491
OgZAE ZHAY 0& 0 1,491 A 1,491
diel s & HY XN 1,290,872 1,313,872 A 23,000
= 148,960 148,960 0
Xl 125,478 125,479 A
< 59,171 59,171 0
s 957,263 980, 262 A 22,999
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